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Decompositions of employment per capita into employment as fraction of labour force (1 minus the
unemployment rate), labour force as fraction of working age population and working age population as
fraction of total population (all relative to US).

Source: own computations based on information in GGDC: Total Economy Database 2004 (University of
Groningen and the Conference Board); standardized unemployment from OECD, Nunziata et al. and Golden
and Wallerstein and age composition from UN. See paper for details.

Please contact hgroot@feweb.vu.nl for questions or remarks
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